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January 2014
B. Sc. Ist Semester Examination
CHEMISTRY
Physical and Organic Chemistry

Time 3 Hours| [Max. Marks Regular 85/ Private 100 7 Old AT?
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Section A, B and C are compulsory for ail . Regular, Private and Old A. T. K. T.
students. Please follow the instructions, given in each section. Marks distribution
for all students are as shown in question paper. The blind candidates will be
given 60 minutes extra time.

T & : ¥YFPrS Section A : Objective Reg 15x1=15/Pvt 15x1=15/0Md ATKT 15x1=1*
d : d .-
] @ {cos x) ¥ AT § 'l'hevalueofdx{msx]m
(a) =in x (b) cosx (c) - min x (d) - cosx
2 werE @ &1 % & . The symbol for reduced temperature is -
tal o b p (ch @ di ¢
5 T A AT AR A
(o) wem ¥ @)@ (7) R am ¢ (T) T & wr
On increasing tla temperature, the most probable yelocity :
(n! decreases (b) increases {¢}) remains congtant  (d) none of them
4 TEE FTA A e T
(¥) vaw fage W T (a) gw fange womeTs A
(@) ga= RE aamew Ty (z) =ré =8t |
Hydrogen bond 12 formed betwesen hydrogen and .
(a) Strong electronegative element (b) Weank electronegative element
(c) Strong electropositive element (d) None
T eegd gewl W I g ¥
(M FmFred (W@ Eswd (@) s e # (g) 3wl ot
Collowdal Sulphur is used as
(2) An insecticide ‘b! A coagulant (¢) An emulsifier (d) All of the above

=]

s fFes o B e % artw orew e O ¥

How many types of Bravais lattices are present in a crystal :

in} 10 {b) 12 {c) 14 td) 16

Fww 71 i 2 sfeow 3=t &1 77 FE=e

(F)FmEm Y L @) ek (w) R war ¥ (T) 7Y & wrf hr
Generally the value of energy of activation in presence of a catalyst -

(n) decreases {b) increases {c) remains constant (4! none of the above

= i ¥ v Rygw dr e

W) siva faree <! Awvy ! (w) BT e ! Aweg 7 (@) Awew ol (%) faez ma ! e A |
iL'nit of gero order rate constant is

(ar mole it " sec”!' (b} lit. mole ! sec ! () sec ! (d: lit mole ! lit sec !
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et Wi e 47 ofvee amg B
() sd amg /2 (@) ard smg /3 (%) By v /2 (%) 1/ Pz o
Average hle of a radioactive element is
{a) Half life 7 2 (b} Half life 7 8

(¢} Disintegration Constant /7 2

g8 447 3@ ® - The weakest acid is -
(8} CH,COOH {b) CICH,COOH ¢} CL,CHCOOH (d) C1,CCOOH

Frafefea & § #t4 @wiewe 78 & . Which of the following is not electrophile

{d) 1 / Disintegration Cons*ant

.ta) AlCl, (v NH, (c) FeCl, (d) ZnCl,,
CH, % &1 sz o & -
(31) g (w) Iperadr (v) fdfurdy (z) dsnpi
Shape of CH, molecule is .
{a} Coplanar (b) Tetrahedral {¢) Pyramidal ‘d) Pentagonal.
TRV ghEaat P ¥ oo it &

(o) et = () w=ffy aw (7) = gnfafa (%) T & ¥ré F¥
Optical Activaty is due to :

(a) Chiral Carbon (b) Plane of Symumetry

(c) Centre of Symmetry (d) None of the above

e % & R anew vd o samaaTer T - Which of the fnilowingwil] show cis-trans isomeriam:
(a) CH, = CH,, b CHCI = CHCI

(¢} CH;CHCICOOH (d) ¥ ¥ 7§ 78 | None of the above
FTEFIUTHT & WAT 8% ¥ General formula for eveloalkane is : -

I{L‘cl. H‘EE:. (b), Cn H'zn +3 i) Cu H‘.!rl ' td) Ch Hh

WY ¥ : WY IWOT Section B : Short Answer Reg 5x4=20Pvt 5x5=25/01d ATKT 5x3=15

1

qeteT

:r+f§ '](3(,—13:39#5;&1‘»1&&& |
Derive the equationl.nff-,_;-l(ﬂw-lhse

a7 OR
i ¥ zaor At oF AR @1 ool ifed
Describe one method for the liquefaction of gases

Frer & & flt @ ot #fre Rt e -

(&) &rfl - e faaw (w) =of sy
() foee awra () ™ft Fatew |
Wnte short notes ci wuy two of the following :
{a) Hardy-Schulze Rule (b Gold Number
{c) Tyndall Effect (d) Protective Colloid
0693
qun B a:fhfimig:w-Tm#rmﬁﬁr& |
For a first order maction, deduce the relation t) =-0'—K—
Tt OR
frerfarfers Y s
(&) & e () smardt (o) w12 Ay g |
Explain the following .
{a) Temperature Coefficient (b) Preudo Order Reactions
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Pratafee & & el 0% 1 Pavh Gl
(3) HEYEA (QTTRIP)  (a) S () s )
Write short ncte on any one of the following ™
(a) Hyperconjugation (b) Carbocation {c} Carbanion
Preafefie & & el @ & qftwife #ifoer
(1) sfafarasfy () Yenhrww
(w) e 1 amifiers Faeer (z) anrfafasay A gareodt |
Define any two of the following -
{a) Enantiomers {b) Racemisation

{c) Absolute and relative configuration (d) Diastereoisomers.

w% ® : O IWAT Section C : Long Answer Reg. 5x10=50/Pvt 5x12=60/0ld ATKT 5x8=40

1

AYTVE # gy § ¥ FA : Solve with the help of log table -
_ 2698 x 69.8 x 0.368
- 293 x 0.0821

T sur OR

£3

HITET ATRR WHTROT A ey Sford amn vl St aargd |

Derive Vander Waal's equation and also write down its limitations

STCITRE T R A ¥ 7 Afiw owe ¥ srranfRe awt & Rieer Bt |

What are mtermolecular forces ? Discuss different types of intermolecular forces.
. 33 OR

CofRfy et & e Fr wEed ¥ 7 Aeea ¥ o gt o A awiaf aw@r W oada @ |

What do you understand by Symmetry Elements ? Describe different types of symmetry elements
found.

R B At a3 s wn e ¥ 2 Ry AR 4 sivfivm ¥ i Rws 5 B g arom e £
o A siftrret £ v T @ *
What do you understand by a second order reaction ? Find out an expression for the velocity
constant of this reaction when both the reactants have same concentration

st OR
wfhfdar 37 & swwor sren Rrar=r B @wargd | hitp://www.davvonline.com

Explain theory of transition state for rate of reaction.

HTF e & e W g R 7 TmET & | e arwt o qamar AW wore & smae oT aavTsy
CH,COOH. CICH,COOH, CL,CHCOOH, C1,CCOOH
What do you understand by inductive effect ? Explain. Explain acid strength of CH,COOH,
CICH,COOH, Cl,CHCOOH, CL,CCOOH on the basis of inductive effect
aar OR

L) IR YEE R 7 e o At () P!, 3a® sfifeard a doen o R

What is free radical ? Describe its (two) methods of preparation, reactions and structure
() T R X i W AW 30> 27> 1° W ¥ 7 e |

Why the stability of free radical is in the order 3°>2°> 192 Explain.
(o) geror 7 & ? gha fupor gy o wwrwer & argeet b @ After wery doealt w1 aviy R |

What is Conformation ? Describe various conformation of eyclohexane with the help of
Newman projection formulae.

Heqer o e & s e ER |

Give the differsnce between Conformation and Configuration.

saar OR
Preafafar ot feaul ffend -
(31) 3 sfifirm (@) 7% Hqu® gra I =1 AFETROT |
Wnite short notes on the following
(a) Wurtz’s reaction (b} Haloganation of alkane by free radica!
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